Concerto in Eb
for Trumpet,Oboe & Strings
I

Viola

Arr. Michel Rondeau

Johann Wilhelm Hertel (1726-1789)

Allegro ( J = circa 100)
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Concerto in Eb Viola
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Concerto in Eb Viola
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Viola

Arioso ( J” = circa 75)

11

Johann Wilhelm Hertel (1726-1789)
Arr. & Cadenza by Michel Rondeau

. e ® o p s oo

3Ty = = 5 L
: ==
_“Il)lb o _P_I'-I'” Ii
3 e e+ ;
16

] — |
i £ G T G rrLaas
> - ® ® @ P > o
- : I
[SAASAS S Lp gt
jjm 5 — % %
et Tte oo o teo-» o frents 3 3
B — ¥ % ¢ ¥ ¥ 7 5 7 == ==—pu
2
I ]

:":'pb 4 [feee £ —— e e H
e —— = b
5]I6\ B ¥ B '-"; rr H o0 ‘P'P'IE'P'P'
=2 ==i= je——cn=
59
o —— \
B e e e e e
. — - ~ .
Yo = e e e T £

© 2006 - The Cathedral Consort Gatineau,Qc.Ca.




II Viola
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11

Viola

Johann Wilhelm Hertel (1726-1789)

Allegro (J . =circa 61)

Arr. Michel Rondeau
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IIT Viola
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